

## BATAAN PENINSULA STATE UNIVERSITY

TITLE: CONSTRUCTION OF BPSU E-LIBRARY AT MAIN CAMPUS

BILL OF MATERIALS : FURNITURES AND FIXTURES

LOCATION: BATAAN PENINSULA STATE UNIVERSITY ( MAIN CAMPUS -LIBRARY )

FURNITURES AND FIXTURES					
ACTUAL PHOTOS	UNIT PRICE	QUANTITY	TOTAL AMOUNT	DESCRIPTION	
PICTURE FOR REFFERENCE ONLY	<b>.</b>			F '' 0 F' '	
LOT 1	Readii	y Availabi	e Off-the-Shelfs	Furniture & Fixtures	
· · · · · · · · · · · · · · · · · · ·	55,000.00	12	660,000.00	ACU- 3 .0HP AIR CONDITIONING UNIT, NON-INVERTER, COPPER CONDENSER	
CONTRACTOR OF THE PARTY OF THE	45,668.00	3	137,004.00	ACU- 1.0HP AIR CONDITIONING UNIT, INVERTER TYPE, COPPER CONDENSER	
			ı	egg hanging swing chair hammocks with cushion	
	20,000.00	5	100,000.00	Hammock C-Stand for Chair, Porch Swing w/Weather-Resistant Finish, Offset Base, 360-Degree Rotation	
	10,000.00	6	60,000.00	Bean bags chairs (moon pod/chill sack/sofa sack)set of 6	
				Decorations set (directory label and others )	
GENDER NEUTRAL RESTROOM	33,080.00	1	33,080.00	directory label and others (see attached plans for details)	
				SMART BOARD (Interactive Board)	
10:20 AM	250,000.00	2	500,000.00	Smart Board (Interactive Board) 75"	
				VENETIAN BLINDS	
	450,000.00	1	450,000.00	Combishade Venetian blinds (customized)	

Sofa SET (Lobby) with center table						
	45,000.00	3	135,000.00	3 Seater Dimensions 2140mm Wx 970mm D x 620mm H Framing: Gemelina Wood Frame  No. Of Back Pillow 3 Seater = 3 pcs. (24" x 18")  No. Of Throw Pillow 3 Seater = 2 pcs. (16" x 16")  Seat Type: Loose  Leg A108 Metal Leg (20 x 13 x 5 cm ht.) Color: Chrome(MANDAUE FOAM)		
	Sofa SET (Read	ing Area 1) wi	th center table			
(house)	(11000			Daisy Sofa		
	10,000.00	6	60,000.00	1 Seater Dimension 993mmW x 800mmD x 880mmH COLOR: EH GRAY  Material Description Gemelina Frame + Upholstery Body+ Retro Legs(MANDAUE FOAM HOME STORE) Table:1.6mWx.08mDx.75mH		
				Daisy Sofa		
	16,666.67	3	50,000.00	2 Seater:880mmH993mmW x 800mmD x 880mmH COLOR: EH GRAY Material Description Gemelina Frame + Upholstery Body+ Retro Legs(MANDAUE FOAM HOME STORE)		
				Lindsay Sofa		
	10,400.00	2	25,000.00	1 Seater Dimensions 945mm W x 970mm D x 620mm H  Framing: Gemelina Wood Frame  No. Of Back Pillow 1 Seater = 1 pc (24" x 18") No. Of Throw Pillow 1 Seater = 1 pc (16" x 16") Seat Type: Loose Leg A108 Metal Leg (20 x 13 x 5 cm ht.) Color: Chrome  Product Line Sofano – The Best Seats In The House(MANDAUE FOAM)		
			135,000.00			
	Sofa S	ET (Reading A	rea 2)			
	18,060.00	12	216,720.00	Cosima 4 Seater Dining Set  Dimension Dia1000mm Chair: W43 x D50 x H80cm  Color Wood: Walnut Metal: Black Cushion: Cowboy Gray  Item Material TOP: 25MM thickness MDF with ash veneer walnut color Leg: 50*50MM steel with black painting.(MANDAUE FOAM HOME STORE)		
SET (Chairs) - 4 sets						
	2,860.00	6	18,000.00	Alden Bar Chair  Tadeo Bar Chair - Dark Grey  Dimension W42 x D52 x H84.5-104.5cm  Color Seat & back: Black Base: Chrome  Item Material Seat & Backrest: 13mm bent Plywood with 40mm new foam covered with polyester fabric Gas lift: 330mm length hydraulic gas lift in chrome plated finish Base: 385mm dia. x 0.8mm thick stamp metal sheet round base in chrome plated finish.  Product Weight 7.3Kgs  Special Feature Swivel 360 degrees Adjustable Seat height.		

				High Chair/Stool		
	9,500.00	42	399,000.00	Description:  Materials Chair seat in injection molded ABS with footrest  Base in 5 prong injection molded ABS  Gasilit mechanism  Dimension:L520XW520XH725 925XSH560 760 MM  Finish: ORANGE		
				High Back Swivel Chair		
	15,000.00	2	30,000.00	Description: Highback chair with armrest Materials: Fabric Seat & Back, PVC Armrest & Starbase Accessories: Gaslift, caster wheel, armrest Color: BLACK		
				Computer Chair		
	4,000.00	19	76,000.00	Description: Materials: Chair seat & backrest in injection molded polypropylene, Round tubular chair frame in chrome finish Dimension : W420 x D515 x H860 x Sh440 Finish: Red		
	01	toman (set of	3)	OTTOMAN (set)		
office furniture toolutions	49,240.00	5	246,200.00	Description: Fabric: LINEX-ONYX Foam: Uratex Stool Center and Petals With Adjustable Gliders(JECAMS.INC.)		
	Coffee tables an	d side tables (	Reading Area 3)			
				Dmitri Coffee Table - Walnut		
	2,666.67	3	8,000.00	Dimension W80 x D80 x H34cm  Color Panel: Walnut Metal: Black  Item Material 16mm thick Particle board laminated with paper veneer with 22 x 22mm x 0.8mm thick Metal tube leg in powder coated finish		
				Kale Coffee Table		
	8,000.00	2	16,000.00	13x26x0.8mm thick and 12mm dia. iron tube base in chrome plated finish. 5mm thick tempered glass with marble stone print.		

	6,000.00	1	6,000.00	Dimension W40 x D40 x H52.8cm  Color Iron tube: Chrome Glass: Black printing  Item Material 15x30x0.8mm thick iron tube frame in chrome plated finish 5mm thick printed tempered glass shelves.  Product Weight 8.6kgs
			30,000.00	
	264,500.00	1	264,500.00	CCTV 8 Panels (complete package)
, , , , , -				Circulation Counter/Staff Desk
JECAME I	120,000.00	1	120,000.00	Custom Reception Counter Dimension:2000 x 600 x 1050 mm Finish: MDF Board / Wengue and White with shelves and lock
	8,000.00	2	16,000.00	trash bins with wheels
	335.00	20	6,700.00	Decoration set and 20 pcs ledges (10mmx200mmx700mm)

	200,000.00	1set	200,000.00	planters box,hanging plants, various plants, wall decors and fences
			206,700.00	
	26,496.00	1	26,496.00	DISPLAY CASE
				filing storage/cabinet
	28,000.00	1	28,000.00	Description: Custom wooden filing cabinet Technical specifications: Dimension: W1800 x D550 x H750 mm Materials: MFC board Finish: Beechwood Accessories: c-handle, central lock set, single lock set, adjustable glider, drawer guide.
				Fire extinguishers
	7,500.00	12	90,000.00	HCFC (green) -10 lbs set of 12
LOT 2		Fabri	cated Furniture &	& Fixtures
				COMPUTER TABLES (fabricated)
	250,000.00	1	250,000.00	19 Capacity Fabricated Computer Table in 18mm THK Laminated HDF Board (see attached plans for the details)
THE SHOP SHOWS A SHOP				RACK PARTITION
	35,000.00	4	140,000.00	150x20x171cm Fabricated Metal Rack Partition in 1.5 THK 2x2 Square Tube(see attached plans for the details)

200,000.00   2   469,000.00   7   Factories   3 things 2   3 thing Capacity Trace with 1   1   1   1   1   1   1   1   1   1			ı		
120,000.00 1 120,000.00 1 120,000.00 120,000		200,000.00	2	400,000.00	Fabricated S-Shape 21 Siting Capacity Table with S-Shape foam seating covered by Synthetic Leather
120,000.00 1 1 120,000.00 Probiccided L-Shape comfor beritate offsched plans for the details)  80,000 20 700,000.00 heavy duty angular frames and braces witherveiling both: service services, fixed will financial and local bases in 1500mmLs400mmWs/2100mmH 1500mmLs400mmWs		75,000.00	5	375,000.00	150x169x270cm Fabricated 6 level Bookshelves in 18mm THK Laminated HDF board (see attached
35,000.00 20  T00,000.00  T00,		120,000.00	1	120,000.00	(fabricated)  Fabricated L-Shape counter bar(see attached plans
19,000.00 1 19,000.00 see attached plans for details  68,300.00 standees (see attached plans for details)		35,000.00	20	700,000.00	heavy duty angular frames and braces withlevelling bolts; 5 wooden shelves, fixed with guardrails and label boxes Dimensions:
		19,000.00	1	19,000.00	
TOTAL 6,050,000.00		68,300.00	1set	68,300.00	
	TOTAL				6,050,000.00